Emon’ @R

INSERT NOZZLEf No.E-9991
NI JBEY

[N AR Z4EEE MEMERIRIK: SUS303

1MPa EEeTs 70°C

O THEMEE R AR ARMF35 , FEHthmHIEIR,
EE: REBLLERMEORIR,

(1XPRIB10-1~6)

oF oF .

HEAE
Sas ae A SE T 6 2 B EE -6 2 (ke
970084 JB10-1 M10x15 (J8%F) 196 = 2 = 104 . ¢28 = 48 - 17 . 6 e O
970085 JB10-2 M10X15 (#2F) © 196 @ 64 = 104 = ¢2.8 4.8 17 65 s
970086 JB10-3 M10X1.5 (%) | 196 @ 127 © 104 = ¢2.8 4.8 17 75 KEHAT
970087 JB10-4 M10X15 (#8%F) = 196 = 346 = 104 = ¢2.8 4.8 17 95 e
970088 JB10-5  |M10X15 (f5F) 196 2 104 ¢4 438 7 6 St TR E
970089 JB10-6 M10X15 (#8%F) = 196 = 127 = 104 = ¢4.1 48 17 - 65
990252 JB10-7 M10X15 (#%F) @ 196 @ 2 = 104 = M5 4.8 17 6
111439 JB10-8 M10X15 (#8%F) 196 = 31.8 = 104 = ¢4.1 4.8 17 72
123167 JB12-1 M10X175 (#8%F) @ 196 @ 2 104 = ¢28 5.6 17 75
123168 JB12-2 M10X175 (#%) @ 196 @ 64 @ 104 = ¢2.8 »4.7 17 75
123169 JB12-3 M10X175 (8% @ 196 © 127 @ 104 = ¢2.8 »47 17 10
123170 JB12-4 M10X175 (#85) @ 19.6 : 31.8 = 104 = ¢2.8 = ¢4.7 17 125 IR R b5 IR
123171 JB12-5 M10X175 (#2) @ 196 @ 2 104 @ @41 047 17 75
123172 JB12-6 M10X175 (#2F) = 196 : 127 = 104 = @41 047 17 75 TR
123173 JB12-7 M10x175 (#82F) = 19.6 31.8 10.4 4.1 047 17 10
123174 JB12-8 M10X1.75 (*ﬁsf)§ 19.6 2 10.4 M5 047 17 10 PR
123175 JB20-1 M20X15 (#8%) = 27.9 19.1 15.2 4.1 »10 24 275
123176 JB20-2 M20X1.5 (#%) @ 279 & 381 = 152 = 4.1 »10 24 30 U
123177 JB20-3 M20x15 (#8%F) 279 = 191 = 152 = 56 ®10 24 = 275 SRERF O
123178 JB20-4 M20x15 (#8%) 279 = 381 = 152 = 56 »10 24 0 325 e
123179 JB20-5 M20X1.5 (#%) @ 279 & 191 @ 152 @ 7.1 »10 24 25 MITEH
123180 JB20-6 M20x15 (#%) 279 = 381 152 71 = 910 = 24 275 .

%3

AEER THCADHE. HITEFTIA,



i
A : : : : : : :
_:‘_ﬁ iT8S s A B i C ¢+ D E F G EEg
I 985022 JB1B-1 R1/8 203 ¢ 24 104 @28 ¢ 56 17 i 6
173 985023 JB1B-2 R1/8 203 6.4 10.4 2.8 5.6 17 7
J 985024 JB1B-3 R1/8 £ 203 127 0 104 ¢28 5.6 17 6
;EJ 985025 JB1B-4 R1/8 20.3 2.1 10.4 041 5.6 17 6
== 985026 JB1B-5 R1/8 ©0203 0 127 0104 0 ¢4 5.6 17 7
990253 JB1B-6 R1/8 203 2 10.4 M5 5.6 17 6
111440 JB1B-7 R1/8 £ 203 318 104 @ ¢28 5.6 17 8.6
111441 JB1B-8 R1/8 20.3 31.8 10.4 041 5.6 17 6.8
985027 JB2B-1 R1/4 f0234 0 24 0 115 0 928 5.6 17 8
985028 JB2B-2 R1/4 234 6.4 11.5 2.8 5.6 17 8
985029 JB2B-3 R1/4 © 234 127 115 0 ¢28 5.6 17 8
985030 JB2B-4 R1/4 23.4 2.1 11.5 041 5.6 17 9
985031 JB2B-5 R1/4 §234 0 127 0115 0 ¢4 5.6 17 7
990254 JB2B-6 R1/4 23.4 2 11.5 M5 55 17 8
111442 JB2B-7 R1/4 S 231 0 318 104 @ ¢28 7.8 17 10.4
111443 JB2B-8 R1/4 23.1 31.8 10.4 041 7.8 17 8
970090 JB3B-1 R3/8 ©234 0 2 104 0 956 7.8 17 10
990255 JB3B-2 R3/8 234 12.7 11.5 5.6 7.8 17 11
990256 JB3B-3 R3/8 S 234 0 318 115 @ ¢56 7.8 17 12
990257 JB3B-4 R3/8 234 0 24 115 M6 - 78 17 10
................... s |
WEAE STR I Q
................... i i
WETEOM
KAHT
TS TRTEM 'ii'

BORATARARAG ERY) |
ARE KA.

http://www.nabeya.co.jp



